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TR YRR RN, Sc3 hT aghell ?
A)  auiE=T sk B) TramTer=esha
C) TAFEshal D)  drFEshdl

10.

TR e ST STy | UEa hISEY ... T HET -

T |
A) WgEE  B) @EwEE () WRE D)  9<IE

RN IRHT W T g | ARGl I foRehia @ead o 797 - e

FoH 2

A) AR B) 9 C) o D) URES
ST HIH 3TEh ST ToRT: ava 2

A) W B) Tl C) T D) =@
‘GUETTET WIST FUheqaeid -5 ?

A) TfeHdk  B) = C) omsm D) ®H%
A)  IRE  B) T C) ®uUear D)  wdeMEn
“HETATT T - e

A) dHEGETRET B) WHEAT C) AYHRSET D) AR

A) dEEEAE  B) "wed®  C)  URHEAE D) SSeIeHm

‘TR A [ saT=T - 2
A)  arRuHEAH B) =fsem

~ ~

C) ORTUGwH D)  HEHEH

= ~ ~

AenUldendlHnIkl: °|')r<'|?
A) = B) =& C) TR D) ¥



1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

a7 T 9aA BRI o e 2

A T B) e C) ST
T ITRIRT T 2
A) B) e C) Ty
TR & Tge A=/ 2
A) A= B) A< C) ue
AT 7 HIERE el 2
A) & B) fagaq C) Im
“diferer:” T Fe IR YT 2
A) I B) dtas®m () AW
Match the following:

List 1 List 2
a) gW 1. anE
b) H 2. 3YERE
c) el 3. NILIERH
d fe I EEICH
A)  a-4,b-2,c-3,d-1 B) a-1,b-2,c-4,d-3
C) a-2,b-1,c4,d-3 D) a-4,b-1,c-3,d-2
JATECR A TAHERTAT SIeaf: &7 2
A) FRIMET  B) AMIET C)  STEHNYT
FARRY H Te AT
A) TH B) =9 C) T/
‘SR 3T R TR AHEI ?
A)  FE=H B) @ C) HA
A IEHE T Shid A1 2
A) TS B) sifor C) u=

D)

D)

D)

D)

D)

D)

D)

D)



21.

22.

23.

24.

25.

26.

217.

28.

29.

ORI ShelH SFehIUT [aSgerenTO afa 2

A)  Tgaem B) WM q
C) gaEq D) fosserepot iia
T & [ERA 7 el ?
A)  STUEREE B) @@ C) W@H D)
o=y Tar o SWIIRT 72
A) T B) 9T C) HEE D)
A)  SgEET B)  ©@9UT C) TRSYHRT D)
Match the following:
List 1 List2
a. Sl 1. gos
b. 9 2.  THsTdargad:
c.  TREE 3. TagremEs
d.  FHHAERHI: 4, et
A)  a-3,b-4,c-1,d-2 B) a-1,b-3,c-2,d-4
C) a-4,b-3,c-1,d-2 D) a-3,b-2,c-1,d-4

What is the most popular astronomical authority of North India?

BRIGEARH

LHUSreEleh?

A.D.1550-1621
A.D.1660-1740

ATRISTHITS

A) L B)

C)  weEgGIEH D)

Which is the date of Sangamagrama Madhava ?
A) A.D.1444-1545 B)

O) A.D.1340-1425 D)
RRITE HHHR Fr ?

A REET B)

O] NEEZGINEUE D)

Which embody the geometrical acumen of the Vedic rishis ?

A) Sulba sutras B)
O] Dharmasutras D)

Kalpasutras
Srautasutras

.
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30.

31.

32.

33.

34.

35.

36.

37.

Read the following statements and choose the correct answer:
1. The four Vedas had their separate jyotisha.

2. The jyotissastra of the post Vedic period is different from the
Vedangajyotisha.

A) Both are correct B) 2 is correct and 1 is wrong

O] Both are wrong D) 1 is correct and 2 is wrong

‘W T T TR A ﬁﬁUl ?

A) AT I B) UST WERA

C) UfE WEu D) 3R Aq

‘ STERE 1T WU 3 GARGRE [ 2

A) TR B) TheTd C) arERe D)

<

‘T FrERet I - T GAT 2
A)  SEMATEE: EE AT B)  GisTT @ T IR
0 et

Match the following:

List 1 List 2
a.  EHTSRYRIRICHHER 1. e
b. ¥TW 2. SAUMEH
c.  HUHIU FAl TgaTH 3. WeR
d. STy AR 4.  @Em
A)  a-2,b-1,c-3,d-4 B) a-1,b-2,c-4,d-3
C) a-2,b-1,c-4,d-3 D) a-4,b-2,c-1,d-3
‘T T THRET THRISIT e AT ?
A)  FERE B)  SUNEIgmTAraEr 7
C) EORdlgTE D) e
‘FoTTed 3 GEARTRR 0T R 2
A  FAfafaem B) Y99 FeRd

C)  IEAIH D) AT YW

Read the following statements and choose the correct answer:
1. 3R+ g5 |
2. oETTERd|

A) 1 is correct & 2 is wrong B) 1 and 2 are correct
O 2 is correct & 1 is wrong D) 1 and 2 are wrong

D)  UdWRr oAuiShRATTIE et



38.

39.

40.

41.

42.

43.

44.

45.

WYEE TG Temshaar €9 [ 2
A TH B) 3R C) T D)
‘ar’ BT VIR gRish e &Y R
A) W& B) OX C) 3™ D)
Match the following:
List 1 List 2
a foie 1 ﬂﬁ'ﬂ'i?[
b. T 2. IEdd
c. ¥ 3. IR
d EINIITgEcy 4. g
A) a-1,b-3,c-2,d-4 B) a-3,b-1,c-2,d-4
C) a-4,b-3,c-1,d-2 D)  a-4,b-3,c-2,d-1
FrAAHETER AU | 3T fhHed 2
A) B) VERRIEH

‘TSt 7T o T AT - SRR YA TR 2
A TEEE B)  gedl I o
C) T D) ASET

C) STV FHHT D) UK IN

Read the following statements and choose the correct answer:
1. G 9eEs |

2. O qIH: |
A) 2 is correct and 1 is wrong  B) Both are wrong
@] Both are correct D) 1 is correct and 2 is wrong
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46.

47.

48.

49.

50.

51.

52.

53.

‘gt TS 3 T fafedr e & 2

A T B) M c TN
‘a3 v TSiegae w92

A) TEHEAM  B) FEAM C)  TEAE

Read the following statements and choose the correct answer:

1.  OSHRIEH! wel JREs, 9o |
2 w1 e gatd |

A) Both are wrong B) Both are correct
@] 1 is correct and 2 is wrong D) 2 is correct and 1 is wrong
VA T SIS ohed AT forefiaret 2
A)  STESSRHM B) 3™
C) e D) TSOSSHCANT
Match the following:
List 1 List 2
a.  UJHTEAET e 1.  3ThyEd
b. S IS 2. Eaaresed
c.  VEHMEEHGd 3. SN OF
d. URAME Q1 UsEaey 4. 37T e
A)  a-2,b-1,c-4,d-3 B) a-1,b-2,c-4,d-3
C) a-3,b-1,c-4,d-2 D) a-4,b-2,c-1,d-3

THETGHNT ST Ve T [ 2
A) RS B)  —ATIHRHIECA
C)  UvHREEE D)  —AFterTed

¢ DFSEEERTE o TR -3 AEUEE T 6 ?
A) TR SAfqenfaereTa

B) SRASHNEROTS

¢ TorEfgeEmEy

D) HANE! AfdeAntaaron

Hefeat 19 TR 2

A)  ERRTHgeET B)  WAGEASANTET
C)  gIAmIEq D) URCSAYRATIEEH



54.

55.

56.

57.

58.

59.

60.

“HemTI THATET -3 T ST 2

A)  SE B) UERUEANER:
C) IRt D)  3THANHS:
SSHATTITRe: H T 2
A) UERUY ~ B) 3 EedaH () SUUM D) STEEu
Ao o 2
A) HHEEr  B) SEE@RT ©) Seh D) 9T
Match the following:
List 1 List 2
a. haoTHIEIAh: 1. HIFTTH
b. TTUHE S AT 2. SHAESHE AT HIae
c. Qe AET A 3. SRYTEUET
d. SEEAYHESTAES w4, TG
A) a-4,b-3,c-1,d-2 B) a-3,b-1,c-2,d-4
C) a-2,b-1,c-4,d-3 D) a-4,b-1,c-2,d-3
qf‘awﬁaﬁammm e feRe?
A)  TgEm B)  WERIRMER
C)  ToRmuETET D)  EUSEEHEANTET
IR STeATaaRone & foaett S 2
A HIAREAE B)  TEehaRINeST-ae e
) ARFAT: D)  WiqemehIe
Match the following:
List1 List 2
a. TS 1. TUSTH
b. Tedramentas: 2. FAGSHER:
c.  gAETIATES: 3. =™
d. TqATIATS 4.  TosEUH
A) a-3,b-4,c-2,d-1 B) a-1,b-4,c-3,d-2
C) a-2,b-1,c-4,d-3 D) a-3,b-1,c-2,d-4




61.

62.

63.

64.

65.

66.

67.

68.

69.

Read the following statements and choose the correct answer:

1. e e GEgEeSa SR S g5l |
2. TR o SeEeIEeT |

A) Both are wrong B) 1 is correct and 2 is wrong
@) 2 is correct and 1 is wrong D) Both are correct

T GESERAET: it ?

A)  STCRISHRUTIER B) $ERE

C)  JHTOMHTET D) Feasere

ST TR AT [UTES 3 JAISTeh ?
A)  TEREISEEETEE B)  @nSaSTReice
C)  HEUISISTIRETEl D) SERFIETEEETE

‘I | ST - Felr ?

A)  EEHAR B) USARHHSEN

C) AT D) IEAE

AT e I A

A) Rl B)  SArareTeeamnl

C) R D) St

‘Teh ®Y T JIF - 3 FGBRE 3T FHIq ?

A)  TESHEE B) UEmEEHAEN

C) wmEER D)  3TaTeferaT

STHTYROTE A R ?

A)  HEROTYEE B) IS eh AT T

C) E&aﬁﬁm D) STURUGHAFAEH IR

e ST e fagefa 2
A)  IRRESSIITHRR B)  STided AIRa

C) TERET D) SHoaHRd aF A

‘T IO IO R o 2

A)  EE RIS AT AR ST IR e
B) eIl SHveEgS:

C)  3TERT AR e

D)  HHERHA AT
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70.

71.

72.

73.

74.

75.

76.

7.

78.

“epct: TRITONT O IO GEeT |

IEGPHRITISTCHT FHegmard = |1’
Zfa Mamaed ‘uepar’ 2fa g SaigeiEar e % 9
A) HEET B) T&¢ C) 3|/=™ D)
TEURaRAaRY [T .............. |
A)  fafaem B) & C) HHMEFEH D)
........ q Wﬁ?ﬁw AT O R |
A) B) Miewm=q ¢ &rom D)
TY SO T ............. TShFaTeTRA AT, ShEE |
A)  TAMHIHIST B) ToRmHIRRT
C)  WIUTHIHINT D)  3TAHIHINT
Match the following:
List 1 List 2
a. T 1.  vEHC
b. df&r 2. 3T
c. IWIHER 3. O
d famm 4. TIE"
A) a-3,b-4,c-1,d-2 B) a-4,b-1,c-3,d-2
C) a-2,b-4,c-3,d-1 D)  a-3,b-4,c-2,d-1

STETURIATII <hT 3TUTRTeT 2
A)  EOEAMEE  B) S C) g D)

HAEATEIRITG] HI<1G- 37 AEUEE HisdT ?
A)  TESAMOT B)  HARGANT  C) Aol D)
AT hIGENH a2

A)  HqA  B) M ) Eodg@E D)

IO AR | e 2
A)  SlERETT B)  OROO® () [RAIAUsE D)



79.

80.

81.

82.

83.

&4.

85.

86.

87.

88.

9.

“SRTSHEATINRA Teramat = fererd 1 5 2
A)  FEER B)  wfwam C)  HEIM

‘T T w2
A) I B)  Sf=a C) eI

“ JTTAT RIS - 375 STUREET HISIT 2

A)  FF<EH B) AW 0 C)  SAHeRe

~ =~

D)

D)

D)

T

ICEERIR

R

“hieR] 7 IS AlgaheHaET 99 3 -37T Shidcde & [aaed= ?

A) I B)  STIUTEANIANGT
C)  SIEANCaES: D)  STCAEANAaTST:

‘Tt g o T S -e e & 2

A) oy B fafgsq ¢ Hifdwq D)
‘AT -3 HHAHEIEE AW R 2

A)  FHREH B)  HHERTEEY

C)  FHIHedEH D)  HHEGTEH

T T TR A, e 2

A) TREEM B) A C) dAdUE| D)
“BroTTerhaTRarRed R -31 ARG a5 o graar ?

A) T B)  STEaHEUcRIeToeT:
C)  T@EYgHuTarer D)  HaSTEHi

‘ SR STAMHTed TeTam T S q8emes &r ?

A FE B) M C) SN D)
W‘Q@Tﬁﬁ@ﬂw -THRRER T o 2

A) B) YRR C) A D)

Hea: 39 R ?

A  IFHY B FgE c HT D)
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90

91.

92.

93.

94.

95.

96.

97.

98.

BT Hiq AT gi=a?

foer

22

A)  IEq B) WeEH C) TR ¥d D)
Match the following:
List 1 List 2
a.  URISEH I G
b.  OORIFSTEI 2. IrdaT:
c. USSR 3. TR
d. T 4,  gEES
A) a-3,b-1,c-4,d-2 B) a-1,b-4,c-3,d-2
C) a-3,b-4,c-1,d-2 D)  a-2,b-4,c-3,d-1
What is the chief grihyasutra of Samaveda?
A) T B) SIICISIBEUSSEL )
O RIESSZUFSEL | D) ‘Iliﬁﬁ‘[%ﬂﬂﬁlq\
How many cantos are there in Haravijaya ?
A) 50 B) 12 c) 21 D)
Match the following:
List 1 List 2
a. AT Jiee: TR Fel (aragd a1 gladr T gl 1. ae=aidorshn
b. HaTEATH RO TEHATH 2 AT
c. TITETAvTdedas: ST -ehaw: 3 STgeArashiTeaT
d. et Afew FHuHAtee JegEtedy 4 FTeRT
A) a-1,b-2,c-4,d-3 B) a-4,b-1,c-2,d-3
C) a-3,b-4,c-1,d-2 D)  a-3,b-4,c-2,d-1

Select the particular metre which belongs to 34'&@% chandas.
Ay TGTHERH B)  AEIqoIehH

~

c) TraRon D)  IIgereERIteaq

The author of Vikramankadevacharita is...............
A) Bilhana B) Kalhana O Parimala D)

Vakpatiraja flourished in which centuary?
A 7" B) g" c) 12® D)

Who is the author of Jatakamala?
A) Somadeva B) Asvaghosha C) Harichandra D)

11

Delhana

1 Oth

Aryasura



99.  Match the following:
List 1 List 2

a) ST guIe 1.  STeeRelw

b) AT TRagIl 2. gHaTIehell
c)  FReArEl 3. gHew
4

d  dfegmRr ST THIT]
A)  a-2,b-4,c-3,d-1 B) a-1,b-4,c-3,d-2
C) a-3,b-4,c-1,d-2 D) a-1,b-3,c-4,d-2

100. “HT i HeTTr TATIH HET: - STEHRE &r ?
A)  SoorE B)  &U: C)  3ORT D) AfRFT

101. Read the following statements and choose the correct answer:

1. The languages of the Indo European family belong to the
‘dynamically varying’ group.
2. According to Balagangadhar Tilak the Polar regions was the home of

the Vedas and the Indo European family.

A) 2 is correct and 1 is wrong  B) Both are correct
O 1 is correct and 2 is wrong D) Both are wrong

102. Which prakrt is the language of the prose in the Karpuramanjari of Rajasekhara?

A)  EAFTEr B) RGN 00 C) WERM D) WOl

A

103. Match the following:
List 1 List 2

a. Grimm’s Law 1. bheudho-bodhami(Skt)
b. Verner’s Law 2. bhero-bharami(skt)
c. Grassmann’s Law 3. merdo-mardami(Skt)
d. Fortunatov’s Law 4. kmtom-satam(Skt)
A)  a-2,b-4,c-1,d-3 B) a-1,b-3,c-4,d-2
C) a-3,b-4,c-1,d-2 D) a-3,b-1,c-4,d-2
104. Which one is the example of transference in Semantics ?
A) saindhava-salt&horse B) Khtvarudha-immoral person
O lavanya-beauty D) rajendra-glorified King
105. ... has preserved the original accentuation system of PIE.
A) Latin B) Greek
O Vedic Sanskrit D) Gothic

106. Who is the author of Isvaradarsana ?
A) Tapovanam Swamikal B) Sree Narayanaguru
O Cattampi Swamikal D) Sankaracharya

12



107. What is the date of Lilasuka?
A) 1700-1760 B) 885-1058 @] 1220-1300 D) None of these

108. Who is the author of Hridayapriyam ?
A) Aryan Narayanan Mooss
B) Rama Wariyar of Kaikkulamkara
O Thaikkattu Pacchu Moossad
D) None of these

109. Which text was commentated byNarayanan Namboodiri of Vellannallur ?

A) TS B)  YTERSSIRIAT

C) IIEERIIH D)  FURER

110. A work written by Nilakantha of Tirumangala ?

A)  TTAIEEHT B)  TIUTArORR
C)  FvirERiTET D)  HSITAT

111. ‘O 9 O SIeRSTTaHT GiiiquciesRed: -3 Teos &; foaedd ?
A) TEHET 0B FMRE Q) 9w D) femmemE:

112, ‘STRMIAEaTEEeaT - e &
A) ST Yidfed Temed I am
B) STl WiaquTed TREHed I a
C) ST UfHted T I8 an
D)  SEAT YidUlied TEHed  IET dH

113, SAUIRIIET HRT & 2
A)  TeATET B) HOEHEAT C) AT D) ST

114, ToRSTTAFAARE R g fqquioT- 3 2

A) T B) & c) farr D) o
115. Match the following:

List1 List 2

a. ISR T: 1. Sty |

b. foafaaraRaET=TaT: 2.  UHEH ... |

c.  ITUANTHFIRHTET 3. ...qal HECH HECA |

d.  STATRUHHdaT=AE: 4 s w9 we

A) a-4,b-3,c-1,d-2 B) a-1,b-4,c-3,d-2

C) a-3,b-1,c-2,d-4 D)  a-4,b-1,c-2,d-3

13



116.

117.

118.

119.

120.

¢ Al TR AT =TT AT da AT 2
A) @RI B) S=MAl C)  TOE D)  3TaEE

‘T T UTeerdt qareer T fafernr efd ader |

TRHHIT AHGEART 5 TYICTHEAT: | | -37 Fgq: STAGHR: &t ?
A) JIEEY  B) YT C) foUueEE D) JoIEinTr

YEE T B /T 2
A)  OREICETEST (10404) B) — UehTsERI (51)
C)  THE () D)  IRYTTERE: (10455)
Match the following:
List 1 List 2
a.  GAT 1. 98 ST 3ot 3 geey
b. T 2. T ST varess 2fd &
c. fagm 3. T wifa s gl
d W 4. NIGEEH
A) a-3,b-1,c-4,d-2 B) a-3,b-2,c-4,d-1
C) a-4,b-2,c-3,d-1 D) a-3,b-1,c-2,d-4
“Fafad R SUARE - ?
A)  STRT qEM B)  TEMIT IO TR

C) ST IEN TSI D) SR TEEANHESTTS T

sk sk s sk s sk s sk sk sk sk
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